PSC NO: 87 GAS NEW YORK STATE ELECTRIC & GAS CORPORATION EFFECTIVE DATE: 06/01/2006

STATEMENT TYPE: NGV STATEMENT NO: 113

STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2006

Owego Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt
Category 1A	\$1.1301	\$1.289	\$2.6074	\$2.973	\$2.2219	\$2.534
Category 1B	\$1.1301	\$1.289	\$2.3917	\$2.727	\$1.7938	\$2.045
Category 1C	\$1.1301	\$1.289	\$2.2877	\$2.609	\$2.0640	\$2.353
Category 2A	\$1.1493	\$1.310	\$2.6074	\$2.973	\$2.2411	\$2.555
Category 2B	\$1.1493	\$1.310	\$2.3917	\$2.727	\$1.8130	\$2.067
Category 2C	\$1.1493	\$1.310	\$2.2877	\$2.609	\$2.0832	\$2.375
WITH COMPRESSION:						
Category 3A	\$1.0208	\$1.164	\$2.6074	\$2.973	\$2.0545	\$2.343
Category 3B	\$1.0208	\$1.164	\$2.3917	\$2.727	\$1.6352	\$1.865
Category 3C	\$1.0208	\$1.164	\$2.2877	\$2.609	\$2.0052	\$2.286
WITHOUT COI	MPRESSION:					
Category 3A	\$1.0016	\$1.142	\$2.6074	\$2.973	\$2.0353	\$2.321
Category 3B	\$1.0016	\$1.142	\$2.3917	\$2.727	\$1.6160	\$1.843
Category 3C	\$1.0016	\$1.142	\$2.2877	\$2.609	\$1.9860	\$2.264
Category 4	\$1.1493	\$1.310	\$2.6074	\$2.973	\$2.2411	\$2.555

STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2006

<u>Goshen</u>

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor F per Therm	Rate per Gal. EquivInt	Market B Ceiling F per Therm		Applicable Gas Vehic per Therm	
Category 1A	\$1.1503	\$1.312	\$2.6030	\$2.968	\$2.2182	\$2.529
Category 1B	\$1.1503	\$1.312	\$2.3917	\$2.727	\$1.7938	\$2.045
Category 1C	\$1.1503	\$1.312	\$2.2944	\$2.616	\$2.0700	\$2.360
Category 2A	\$1.1695	\$1.333	\$2.6030	\$2.968	\$2.2374	\$2.551
Category 2B	\$1.1695	\$1.333	\$2.3917	\$2.727	\$1.8130	\$2.067
Category 2C	\$1.1695	\$1.333	\$2.2944	\$2.616	\$2.0892	\$2.382
WITH COMPRESSION:						
Category 3A	\$1.0251	\$1.169	\$2.6030	\$2.968	\$2.0086	\$2.290
Category 3B	\$1.0251	\$1.169	\$2.3917	\$2.727	\$1.6352	\$1.865
Category 3C	\$1.0251	\$1.169	\$2.2944	\$2.616	\$2.1901	\$2.497
WITHOUT COI	MPRESSION:					
Category 3A	\$1.0059	\$1.147	\$2.6030	\$2.968	\$1.9894	\$2.268
Category 3B	\$1.0059	\$1.147	\$2.3917	\$2.727	\$1.6160	\$1.843
Category 3C	\$1.0059	\$1.147	\$2.2944	\$2.616	\$2.1709	\$2.475
Category 4	\$1.1695	\$1.333	\$2.6030	\$2.968	\$2.2374	\$2.551

STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2006

Lockport Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt
Category 1A	\$1.2249	\$1.397	\$3.5618	\$4.061	\$2.2279	\$2.540
Category 1B	\$1.2249	\$1.397	\$3.5618	\$4.061	\$2.2279	\$2.540
Category 1C	\$1.2249	\$1.397	\$2.3418	\$2.670	\$2.1127	\$2.409
Category 2A	\$1.2441	\$1.419	\$3.5618	\$4.061	\$2.2471	\$2.562
Category 2B	\$1.2441	\$1.419	\$2.3196	\$2.645	\$1.8130	\$2.067
Category 2C	\$1.2441	\$1.419	\$2.3418	\$2.670	\$2.1319	\$2.431
WITH COMPRESSION:						
Category 3A	\$1.0017	\$1.142	\$3.5618	\$4.061	\$1.9107	\$2.179
Category 3B	\$1.0017	\$1.142	\$2.3196	\$2.645	\$1.6352	\$1.865
Category 3C	\$1.0017	\$1.142	\$2.3418	\$2.670	\$1.9660	\$2.242
WITHOUT COI	MPRESSION:					
Category 3A	\$0.9825	\$1.120	\$3.5618	\$4.061	\$1.8915	\$2.157
Category 3B	\$0.9825	\$1.120	\$2.3196	\$2.645	\$1.6160	\$1.843
Category 3C	\$0.9825	\$1.120	\$2.3418	\$2.670	\$1.9468	\$2.220
Category 4	\$1.2441	\$1.419	\$3.5618	\$4.061	\$2.2471	\$2.562

STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2006

Elmira Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate			Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.	
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt	
Category 1A	\$1.1361	\$1.295	\$2.6074	\$2.973	\$2.2219	\$2.534	
Category 1B	\$1.1361	\$1.295	\$2.3917	\$2.727	\$1.7938	\$2.045	
Category 1C	\$1.1361	\$1.295	\$2.2877	\$2.609	\$2.0640	\$2.353	
Category 2A	\$1.1553	\$1.317	\$2.6074	\$2.973	\$2.2411	\$2.555	
Category 2B	\$1.1553	\$1.317	\$2.3917	\$2.727	\$1.8130	\$2.067	
Category 2C	\$1.1553	\$1.317	\$2.2877	\$2.609	\$2.0832	\$2.375	
WITH COMPRESSION:							
Category 3A	\$1.0111	\$1.153	\$2.6074	\$2.973	\$1.9825	\$2.261	
Category 3B	\$1.0111	\$1.153	\$2.3917	\$2.727	\$1.6352	\$1.865	
Category 3C	\$1.0111	\$1.153	\$2.2877	\$2.609	\$2.0157	\$2.298	
WITHOUT CO	MPRESSION:						
Category 3A	\$0.9919	\$1.131	\$2.6074	\$2.973	\$1.9633	\$2.239	
Category 3B	\$0.9919	\$1.131	\$2.3917	\$2.727	\$1.6160	\$1.843	
Category 3C	\$0.9919	\$1.131	\$2.2877	\$2.609	\$1.9965	\$2.276	
Category 4	\$1.1553	\$1.317	\$2.6074	\$2.973	\$2.2411	\$2.555	

STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2006

Combined Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate			Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.	
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt	
Category 1A	\$1.1361	\$1.295	\$2.5863	\$2.949	\$2.2040	\$2.513	
Category 1B	\$1.1361	\$1.295	\$2.3917	\$2.727	\$1.7938	\$2.045	
Category 1C	\$1.1361	\$1.295	\$2.2537	\$2.570	\$2.0333	\$2.319	
Category 2A	\$1.1553	\$1.317	\$2.5863	\$2.949	\$2.2232	\$2.535	
Category 2B	\$1.1553	\$1.317	\$2.3917	\$2.727	\$1.8130	\$2.067	
Category 2C	\$1.1553	\$1.317	\$2.2537	\$2.570	\$2.0525	\$2.340	
WITH COMPRESSION:							
Category 3A	\$1.0111	\$1.153	\$2.5863	\$2.949	\$2.0013	\$2.282	
Category 3B	\$1.0111	\$1.153	\$2.3917	\$2.727	\$1.8285	\$2.085	
Category 3C	\$1.0111	\$1.153	\$2.2537	\$2.570	\$1.9706	\$2.247	
WITHOUT CO	MPRESSION:						
Category 3A	\$0.9919	\$1.131	\$2.5863	\$2.949	\$1.9821	\$2.260	
Category 3B	\$0.9919	\$1.131	\$2.3917	\$2.727	\$1.8093	\$2.063	
Category 3C	\$0.9919	\$1.131	\$2.2537	\$2.570	\$1.9514	\$2.225	
Category 4	\$1.1553	\$1.317	\$2.5863	\$2.949	\$2.2232	\$2.535	

STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2006

Binghamton Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate			Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.	
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt	
Category 1A	\$1.1301	\$1.289	\$2.6074	\$2.973	\$2.2219	\$2.534	
Category 1B	\$1.1301	\$1.289	\$2.3917	\$2.727	\$1.7938	\$2.045	
Category 1C	\$1.1301	\$1.289	\$2.2877	\$2.609	\$2.0640	\$2.353	
Category 2A	\$1.1493	\$1.310	\$2.6074	\$2.973	\$2.2411	\$2.555	
Category 2B	\$1.1493	\$1.310	\$2.3917	\$2.727	\$1.8130	\$2.067	
Category 2C	\$1.1493	\$1.310	\$2.2877	\$2.609	\$2.0832	\$2.375	
WITH COMPRESSION:							
Category 3A	\$1.0208	\$1.164	\$2.6074	\$2.973	\$2.0434	\$2.330	
Category 3B	\$1.0208	\$1.164	\$2.3917	\$2.727	\$1.6352	\$1.865	
Category 3C	\$1.0208	\$1.164	\$2.2877	\$2.609	\$1.9914	\$2.271	
WITHOUT COI	MPRESSION:						
Category 3A	\$1.0016	\$1.142	\$2.6074	\$2.973	\$2.0242	\$2.308	
Category 3B	\$1.0016	\$1.142	\$2.3917	\$2.727	\$1.6160	\$1.843	
Category 3C	\$1.0016	\$1.142	\$2.2877	\$2.609	\$1.9722	\$2.249	
Category 4	\$1.1493	\$1.310	\$2.6074	\$2.973	\$2.2411	\$2.555	

STATEMENT OF NATURAL GAS VEHICLE RATE

June 01, 2006

Champlain Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		Market Based Ceiling Rate		Applicable Natural Gas Vehicle Rate	
	per	per Gal.	per	per Gal.	per	per Gal.
	Therm	EquivInt	Therm	EquivInt	Therm	EquivInt
Category 1A	\$1.1039	\$1.259	\$2.6030	\$2.968	\$2.2182	\$2.529
Category 1B	\$1.1039	\$1.259	\$2.3917	\$2.727	\$1.7938	\$2.045
Category 1C	\$1.1039	\$1.259	\$2.2944	\$2.616	\$2.0700	\$2.360
Category 2A	\$1.1231	\$1.281	\$2.6030	\$2.968	\$2.2374	\$2.551
Category 2B	\$1.1231	\$1.281	\$2.3917	\$2.727	\$1.8130	\$2.067
Category 2C	\$1.1231	\$1.281	\$2.2944	\$2.616	\$2.0892	\$2.382
WITH COMPRESSION:						
Category 3A	\$0.9790	\$1.116	\$2.6030	\$2.968	\$1.9812	\$2.259
Category 3B	\$0.9790	\$1.116	\$2.3917	\$2.727	\$1.6352	\$1.865
Category 3C	\$0.9790	\$1.116	\$2.2944	\$2.616	\$2.0046	\$2.286
WITHOUT COI	MPRESSION:					
Category 3A	\$0.9598	\$1.094	\$2.6030	\$2.968	\$1.9620	\$2.237
Category 3B	\$0.9598	\$1.094	\$2.3917	\$2.727	\$1.6160	\$1.843
Category 3C	\$0.9598	\$1.094	\$2.2944	\$2.616	\$1.9854	\$2.264
Category 4	\$1.1231	\$1.281	\$2.6030	\$2.968	\$2.2374	\$2.551